DIVISION WITH A REMAINDER (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: J
121) 49609 =— 6 = 136) 42922 + 5 =
122) 9622 = 3 = 137 9320 + 2 =
123 35034 + 10 = 13829466 - 6 =
120) 19279 = 4 = 139) 12968 — 3 =
125 65696 + 7 = 1) Hh8081 + 6 =
126) 50102 = & = 141 35093 - 8 =
127) 23204 = 6 = 142) 23436 + 10 =
128) 11563 = 3 = 143) 17559 — 7 =
129) 6045 = 2 = 1) 4931 = 5 =
130 53124 — 6 = 145) 40591 + 6 =
131) 27638 = 6 = 116) 32756 =7 =
132) 9932 = 1 = 1 2100 + 2 =
133) 27810 + 9 = 1) 8870 + 2 =
) 8001 =2 = 19) 73926 + 10 =
135) 30242 = 7 = 150) 4296 + 6 =
Mathematics: Division - Level 7 - Horizontal - Set 2 6 culu
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